o feyfavmee e wnem aea S e f B W (O FFgeTr->
'@i‘]‘@ﬂﬁ"ﬂﬁ'ﬁ]‘]’ﬂ'{ ﬂﬁ'lﬂ‘_Qobs [What is then - order Taylor polynomial of a function f(x)?]
Ry - T G (TS Te : 7 x = a B &S f(x), £(x) F(X) oo fin) (x) v =
R 1S 213711 Wf(x)wmnmarnwczﬁﬁaaﬁvfﬁ’r; n
S : 300 TOF S : 8o Pn(x) = f(a) + (x - a) f(a) + = '2"!'” @)+ o +”‘;!‘” fin) (a).
[58 : erers fenam RSy e S yamRTed Frivs 209 || () *FU R efSTeRTes 31 2B FeT
-t

S | CTCITCAT S5 efrefs Tad we-
(F) TS FIRHHT IICF T2
[ What is identity function?|
BT : f(x) = x I TR AGTS : A > A TR STSH FRHF I |
(4) TRATTR AN SRY P I 2

|What do you mean by existence of limit of a function?]

T afr f(x)=hin;_ f(x) = 1 T, S@ x = a TS T T4

IXbr=VW

h—at
o SR @A
li li li
h—1>n;+ f(x) = | S, h_l,n;, f(x) = h_',";_ fix) T x = a TS TR
Ay wfeg w12 |

(o) SRfSeTer 8 SRATAT @ISR W TRE 2
|What is the relation between continuity and differentiability?]
T : x = a Lo f{x) WERAIGT @Y T & s FrewG wik ity
9|
(9) QTS y = f(x) FR¥AG x = a LS T@PEF 232
|Which is the condition where the functions y = f(x) is decreasing at x
=a?|
©&q : AW f'(a) < 0 T OE x = a LS y = f(x) PG F@FH A |
(8) CRICT TR T ¥ RTeAT s e s | v
|What da you mean by the tangent of a straight line at any point?]

TG : (AT TG (@A THATY @ (@ TS = & el a2 |
(5) f(x) FRHCTE n TIF (Go1 IR IS 907

[What is the antiderivative or integral of zero function?]

Teq : W wienas eferefirelte @1 HHuE wEe wrRew o wd]

fodx =c |
(7) BT @ AT FRHATH TG TG T |

[Write the relation between beta and gamma function. |

[(m) (ny

{m+n)

Twq : 957 @I FRHTa T04F 799 B(m, n) =

() r=a(1+ cosB) IR (I — cosB) IF LA TRIA F |

[Draw the curves r=a (1 + cos0) and r = a (1 — cas0)]
e : ey 2w e SREe w9 T

() H:lz —x dx G 7
|Write down the value of [\a®-x* dx.]

T :,[ a-x dx=@+%sin‘l(‘g) +c,

4-fJemt
@It (o6 efraja Teq wrs-
31 f(x)=xC—4xX + 3 TR (BT € (@5 T 9

8X9=23
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Trer v (e e esem

AT e 9 @ WA (NG FEE=T-3

O OTIe @, fix) = | x|+|x— 1| TR¥AG x = 0 @& x = 1 &g 7SI© 74
TP |

8| y=acos(Inx)+bsin(]nx)'iCﬁCW"JT‘GClT,xzym3+(2n+ l]xym1+(n2+
)ya=0

¢l TWEfrsa:

™/,

(F) In (1 + tan0)do;

JO

4 dx

N | —.
) J3V&x=-3@-x

Y| P =a’cos20 IEEAT G0 FE CFaw [Ffn o3|

-t
ITCA 126 &red Taq e Yo X =0
91 x=aFTe T T TRTETS 8 TSI FCS F J3H?
A 9,
1, x<0
fx)=9 !+sinx, 05X<§

2+(x—(§)-‘ xz%

TS @, x = T fix) SRoRe © AT |

b | LA SoRIe I € 2 9 |

D1 (F) 2+ —x- 1 (P x -2 7 *fete [go 34|

(?) sinx@s( -%) 97 *fETS iATes SRMBRITA T 4 fFe =)

S0 | @ @A 2foa W ey 59 -

T
xds |
S 0 1+coszx’

s
&) J‘ x sin” x dx;
0

n
() | xcos'xdx.
0
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